*(xcrdsm. Philosophy-G/(GE/CC-3)/CECS)

) a1 2022

PHILOSOPHY — GENERAL
Paper : GE/CC-3
(Western Logic)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicaie full marks.
1x10
Y ' ten) -
1. Choose the correct answer (amy - o e ere?
(}y) How many kinds of standard form categorical affirmative proposition are Were- :
Two
(i) One }3) F“
(i) Three av) Oour.
: : <iton?
/(,b) How many terms are there in a standard form categorical proposition.
Four @) Three S
" (i) Two (iv) One. |
fe) The word ‘some’ in a particular categorical proposition denotes
(i) atmost one i)  at least one
(iii) at least two (iv) None of these.
/(d) The converse of ‘No S is P’ (E) is —
(i) Some P isnot S. (0) 49 NoPisS. (E)
(iv) None of these. F

(iii) Some P is S. (I)
(¢) Which term is distributed in a particular categorical proposition?
(i) Subject term (i) Predicate term

/éi’ﬁj Both the terms (iv) Neither of the terms.

() The Boolean notation of the categorical proposition “AllSisP7is—
@) SP=0 G sP=0

(i) SP=O (@iv) SP=0.

(g) According to the rules of validity of the standard form categorical svllogism, if the middle term
remains undistributed in both the premises, the svllogism is said to commit the —
ﬁ?/ fallacy of illicit major @) fallacy of illicit minor
i) fallacy of undistributed Middle (iv) fallacy of four terms.

‘p - q’ is true, if
(i) both p and g are true () pis true, g 1s false
(i) p is false, q is true (iv) Both p and g are false.

(@) ‘p=gq istrue, if
.(?) p is false, q is true (@) pis true, g 1s false
y Both p and g are false (iv) None of these.
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(5)
(i) Which of Mill’s inductive method has been applied in the following schematic example?
Antecedent Conscquent
ABC abc
ADE ade
AFG afg

.. A is the cause of ‘a’.

,(‘l{ Method of Agreement
(iii) Method of concomitant variation  (iv)

(i) Method of Difference
Method of Residues.

(k) The conclusion of any inductive argument is Qlways
necessarily false

;y probable \9{)’
(iv) None of these.

(ffi) necessarily true
swer the following questions briefly (any five) : 5%5

2.
propositions? What are the different

(3" What is meant by opposition of forms of opposition of
<> propositions? '
(b) Explain why the conversion of ‘O’

(c) Explain the relation between truth and validity with suitable example.
d fallacy of illicit major.

proposition is not possible.

 Explain with examples the fallacy of illicit minor an

(e) Distinguish between inclusive ‘or’ and exclusive ‘or’ with illustrations.

Give the observe of the converse of the following propositions :

iy No politicians are truthful.
¥ All mangoes are delicious fruits.
(i) What would be the truth value of ‘p D g’ when ‘p v q’ is false?

(i) Under what conditions is ‘~ p > ¢’ false?
(h) Give a symbolic and a concrete example of Joint Method of Agreement and Difference.

3. Answer the following questions (any two) :

(a) () Whatdo you understand by a class? Explain different stan
with examples on the basis of class-relationship.

dard form categorical propositions

(i) Reduce the following sentences into standard form categorical propositions (any two) :

(1) Only citizens of India can vote.
(2) All who are educated are not liberals.

(3) Metals are generally conductors.
(4) Nothing is both round and square. 3+10+2
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(b) Test the validity of the foliowing arguments by Venn Diagram and if invalid, mention the fallacy
e -

3x3
committed (any three) : .
,/X All-2nd fig.

f) EAE - 3rd fig.

\9’6 No professors are ignorant. All ignorant people are arrogant. Therefore, no professors are
arrogant.

(iv) No mathematicians are poets; some philosophers are mathematicians; so some philosophers
are not poets.

Use truth table to determine the validity or invalidity of the following argument forms :

/(G ~(pvq)/'.'.~p.-q

&
A p2a o

qor/ . p.r
G) Pve>((p.9q
~p.~ql/ . . pv~q _
(i) What is the truth condition of an implicative statement form? (4x3)+3
(d) Explain and examine Mill’s Method of Difference. . 1045




